Convert the Units of Weight. worksheet 5

a.2kg =_2000g

b.7732g=_7kg 732g

c. 3 kg 650g = 9
d. 4 kg 505 g = 9
e. 8789 g = kg

f.8 kg 534 g = g

g-1kgl1l0g=__ g

www.MathATube.com

i. 5kg 132 g =

j. 1288 g =

kg

k.3 kg 891 g =

l. 2 kg 258 g =

m. 2241 g =

kg

n. 1420 g =

kg

0. 2kg 26 g =



Worksheet 5 answers

a.2kg =_2000g i. 5kg 132g=5132¢g

j.1288g =1kg 288 q
b.7732g=_7kq 732¢g

k.3 kg 891 g = 3891 g
c. 3 kg 650 g = 3650 g

l. 2 kg 258 g = 2258 g
d. 4 kg 505 g = 4505 g

m. 2241 g=2kg 241 g
e.8789g=8kg 789 g

n.1420g =1kg 420g
f.8 kg 534 g = 8534 g

0. 2kg 26 g = 2026 g
g.1kg10g =1010g
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